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QUESTION 1

Which statement is true regarding OneConnect processing? 

A. The virtual server must have UDP profile. 

B. Server-side request can utilize existing client-side connections. 

C. The number of client connection is reduced. 

D. Client-side request can utilize existing server-side connections. 

Correct Answer: D 

 

QUESTION 2

The following iRule is being used within a persistence profile on a virtual server. Assuming the following HTTP requests
are made within the same timeout window, what is the maximum number of persistence records that will be created
iRule: 

A. 4 

B. 3 

C. 10 

D. It cannot be determined from the given data. 

E. 5 

F. 1 
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G. 0 

Correct Answer: A 

 

 

QUESTION 3

What we two advantages of using SSL offloading? (Choose two) 

A. Offloads the client to SSL processing 

B. provides single point of management for private keys 

C. reduces server load significantly 

D. encrypts all communications and to end 

E. allows secure remote access to internal server resources 

Correct Answer: BC 

 

QUESTION 4

A company deploys F5 load balancers to manage a large number of secure applications. The company manage
certificates. Which F5 provides this functionality? 

A. iHealthy 

B. BIG-IQ 

C. GTM 

D. LTM 

Correct Answer: B 

 

QUESTION 5

In the following request, which portion represents a parameter name? 

A. Yes 

B. User 

C. Week1 

D. Financials 

Correct Answer: B 
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